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1 3 f(x)=—6x"+2x" —x+4 > g(x)=2x" -1 {I

M fx)+gx=__ (D___ -
Q) f(x)-gx)=__ 2)__ -

Q) f() B g WEz=_3)_ - #hzl=_(@__ -

2. 5 f(x) BREL g(x) HURE ARy q(x) » B3Ry r(x) > Al
S BrEL 6g() 1ymEztR_ (5 el (6)_ -

3. 3% f(x)=x" —10x° +12x° = 25x* —21x* +32x" —46x+10 > 33K f(9)=_(D)__ -

B

CBRSIER £ (1) =2+ 26 1Rl x -1 1fat=_ (B)_ -

5. L P(-2,5) Hl
(1) 5 P RAFS x Wy ifmesasin (@ o

(2) B PRAFY y BHATEREEAE S QO -
(3) 2k PRHFNEL: y=x (UEIfREEAME S @ -

o)

DI TRy = 2% +4x—1 » H
(HHEATER R ) -

() #0<x<3 > Mg =3 Ky HRMER_(9_-

7. EEB=REy=f(x) WER > 2P (5,1 (5)) REREL

LR A —EEE 2 Ans: __(9__-
(1)(x—5)3 +4(x-5)+5

2)(x-5) —4(x-5)+5

(3)—(x—5)3 +4(x-5)+5

@) —(x-5) —4(x=5)+5 -

SRS (%) ¥

(5./05))

X



F_Bp: (8849 H£409)
LB 260 + 2+ Sy 2 [RLL S IR B v+ 1, B0 3x— 5, 3RS (0.
Ans _@_

2. HEER, fOFRLLx? —5x+4 > 858 x+2 0 FRIAx2—5x+6 - g8 3x+4 >
SCRZIER f(OBREL X2 —4x 3 1UERZ -

Ans - _@_

3. B f(x)=2x"-5x"+6x+3 - AR :

(D) f(x)=a(x=2) +b(x—2)* +c(x—2)+d - KE¥(a,b,c,d) > Ans - QO

Q)K y=f(x)TE x=2 M A — 2R L - Ans ©__Q9_
Gk £(1.99)3EBUE - 1942 FAF)/NEBHBE A - Ans © 60

4, RK=REAE y=x" —6x" +x+I1SHEFEDL o Ans _@_

5. BB NIISRAZEL
(1) (x+1)(2x =1)*(x=2)<0 ° Ans Q@)

2)(—x+3)(x - +x+1)=0 ©  Ans - Q@

6. URKE y=f ()W EF LG EFIR.
(FEBHARE f)=0ME. dns-_ Q@

QIEBAER f(x)>0. Ans 1 __QY___

F=&2: (XK 152)

EARI=Reu L f () B THIRMAE

OENEEEH L Q-0+ f1+0)=4

(ii) f (x) 1 x=0 FF ATy —JAT PN E LR By g(x) =3x =5

[BIE TR

(1) k¥ f (x) B EI SRR o (54D

(2) SR e LAt FrRrFRIRE S (x) (10 43 » FEES I ELEEA S5
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(1) BREL f(x) B HETE o0 By

(2) FORR e E FROATE f (x) - (FRRH







